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64z HiE HzZzi 48 41 89 14 75 AE
14z €HF B/ 45 44 89 14 75 AE
81 HE Z1T 46 45 91 16 75 AE
941 B BE 50 b1 101 26 75 AE
1043z MR IESE 53 | 46 | 99 23 76
11412 Bl & 48 47 95 19 76
12431 EH OHE 44 | 46 | 90 14 76
134 B & 53 46 99 22 11
1441 JEHE B 49 46 95 18 77
1541 BH =% 46 46 92 14 18
164z wiE = 51 52 103 25 78
1741 AT A 46 49 95 17 18
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20431 KR F— 47 | 48 | 95 16 79
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23431 . 50 | 45 | 95 15 80
24431 XE EX 49 | 49 | 98 18 80
25431 wmH —=x 46 | 50 | 96 16 80
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354 ¥ 3Fah 50 55 105 20 85
36431 AN IE— 66 | 48 | 114 28 86
3741 e BE 59 | 47 | 106 20 86
384 EHR OXE 61 b1 112 26 86
394 INI R b8 50 108 22 86
40431 WHE BA 56 52 108 21 87
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